Multi-digit Subtraction

Ainswer Key

Line up the digits vertically and find the difference.

1) 2,975,301 - 46,823

2,975,301
- 46,823

2,928,478

3) 913,520-817,659

913,520
- 817,659

95,861

5) 358,116 -73,493

358,116
- 73,493

284,623

7) 6,531,602 - 2,798,576

6,531,602
- 2,798,576

3,733,026

2) 5,710,249 -947,180

5,710,249
- 947,180

4,763,069

4) 7,120,834 - 5,943,972

7,120,834
- 5,943,972

1,176,862

6) 44,010-16,385

44,010
- 16,385

27,625

8) 563,445 - 328,065

563,445
- 328,065

235,380
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